

Vermilion Livestock
 Wednesday, January 21, 2026 -- 12:00 pm
 Pre-Sort

NOTES...

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	A-18		3 STRS	TAN	471	1414	
2	2	9-1		2 STRS	TAN	538	1075	
3	3	4-4		5 STRS	TAN	610	3052	
4	4	4-6		5 STRS	TAN	679	3394	
5	5	4-8		16 STRS	TAN	726	11608	
6	6	4-10		10 STRS	TAN	785	7854	
7	7	4-12		7 STRS	TAN	842	5896	
8	8	4-14		3 STRS	TAN	900	2699	
9	9	4-16		2 STRS	TAN	980	1960	
10	10	D28A		1 STRS	WHT	449	449	
11	11	D-5		2 STRS	WHT	606	1213	
12	12	D-5A		1 STRS	WHT	715	715	
13	13	D-5B		2 STRS	WHT	856	1713	
14	14	D-4		2 STRS	CHAR	446	893	
15	15	D-4A		4 STRS	CHAR	532	2126	
16	16	D-4B		3 STRS	SMOK	655	1965	
17	17	D-3		3 STRS	SMOK	721	2162	
18	18	D-3A		2 STRS	SMOK	893	1786	
19	19	A-20		7 STRS	EXOT	429	3000	
20	20	9-2		10 STRS	EXOT	486	4862	
21	21	9-3		4 STRS	EXOT	554	2215	
22	22	5-3		9 STRS	EXOT	609	5481	
23	23	5-5		9 STRS	EXOT	660	5941	
24	24	5-7		6 STRS	EXOT	718	4309	
25	25	5-9		4 STRS	EXOT	796	3184	
26	26	5-11		7 STRS	EXOT	851	5956	
27	27	5-13		4 STRS	EXOT	926	3702	
28	28	D-3B		1 STRS	EXOT	1090	1090	
29	29	D-2		3 STRS	BIG	972	2917	
30	30	D-2A		2 STRS	BIG	1106	2212	
31	31	D-2B		2 STRS	EXTX	552	1104	
32	32	D-1		7 STRS	EXTX	606	4245	
33	33	D-1A		6 STRS	EXTX	662	3971	
34	34	D-1D		6 STRS	EXTX	734	4402	

35	35	D-1C	5	STRS	EXTX	785	3926	
36	36	D-44	3	STRS	SIMM	564	1692	
37	37	D-45	4	STRS	SIMM	600	2398	
38	38	D-46	2	STRS	SIMM	785	1570	
39	39	A-23	2	STRS	BLEX	552	1104	
40	40	9-4	11	STRS	BLEX	612	6733	
41	41	5-8	12	STRS	BLEX	668	8016	
42	42	5-10	12	STRS	BLEX	725	8701	
43	43	5-12	12	STRS	BLEX	791	9490	
44	44	5-14	3	STRS	BLEX	854	2563	
45	45	D-47	2	STRS	BLK	418	836	
46	46	D-48	11	STRS	BLK	568	6243	
47	47	D-7	23	STRS	BLK	645	14846	
48	48	D-49	17	STRS	BLK	706	12001	
49	49	D-36	9	STRS	BLK	789	7102	
50	50	D-37	7	STRS	BLK	849	5943	
51	51	D-38	3	STRS	BRIT	494	1482	
52	52	D-39	1	STRS	BRIT	588	588	
53	53	B-17	4	STRS	BRIT	634	2536	
54	54	B-18	4	STRS	BRIT	718	2871	
55	55	B-19	4	STRS	RWF	406	1622	
56	56	D-32	3	STRS	RWF	500	1500	
57	57	D-33	3	STRS	RWF	576	1728	
58	58	D-34	1	STRS	RWF	621	621	
59	59	D-35	3	STRS	RWF	712	2137	
60	60	B-14	2	STRS	RWF	780	1560	
61	61	B-15	6	STRS	RWF	911	5465	
62	62	B-16	2	STRS	EXOT	469	938	
63	63	D-28	1	STRS	EXOT	558	558	
64	64	D-29	3	STRS	NORT	485	1454	
65	65	D-30	6	STRS	NORT	591	3544	
66	66	D-31	7	STRS	NORT	716	5010	
67	67	B-11	1	STRS	NORT	840	840	
68	68	B-12	1	STRS	LATE	407	407	
69	69	B-13	1	STRS	LATE	627	627	
70	70	D-24	1	STRS	SPEC	514	514	
71	71	D-25	3	STRS	SPEC	611	1833	
72	72	D-26	2	STRS	SPEC	692	1385	
73	73	D-27	1	STRS	SHOR	370	370	
74	74	B-8	3	STRS	SHOR	721	2163	
75	75	B-9	1	STRS	SHOR	821	821	
76	76	B-10	7	BULL	EXOT	471	3294	
77	77	D-20	10	BULL	EXOT	587	5869	
78	78	D-21	7	BULL	EXOT	701	4905	

79	79	D-22	8	BULL	EXOT	823	6584	
80	80	D-23	4	BULL	EXOT	885	3541	
81	81	B-7	2	BULL	BRIT	616	1232	
82	82	B-6	3	BULL	BRIT	681	2044	
83	83	B-5	3	BULL	BRIT	782	2346	
84	84	B-4	8	STRS	TINY	338	2700	
85	85	A-5	1	STRS	STAG	604	604	
86	86	A-7	1	STRS	STAG	660	660	
87	87	A-9	3	STRS	STAG	807	2422	
88	88	B-3	2	STRS	BABY	214	429	
89	89	1-4	3	HFRS	TAN	546	1639	
90	90	1-5	7	HFRS	TAN	650	4548	
91	91	1-5A	6	HFRS	TAN	704	4227	
92	92	2-3	1	HFRS	WHT	647	647	
93	93	1-6	1	HFRS	WHT	790	790	
94	94	1-5B	9	HFRS	CHAR	491	4418	
95	95	2-5	5	HFRS	CHAR	644	3218	
96	96	1-8	3	HFRS	EXOT	396	1188	
97	97	2-7	5	HFRS	EXOT	494	2472	
98	98	1-7	9	HFRS	EXOT	588	5294	
99	99	EP2F	15	HFRS	EXOT	647	9711	
100	100	EP2B	12	HFRS	EXOT	719	8630	
101	101	1-7A	5	HFRS	EXOT	808	4040	
102	102	1-7B	6	HFRS	BIG	946	5674	
103	103	1-10	5	HFRS	EXOX	548	2740	
104	104	EFP3	18	HFRS	EXOX	634	11408	
105	105	2-9	2	HFRS	SIMM	408	816	
106	106	1-12	2	HFRS	SIMM	482	964	
107	107	2-11	3	HFRS	SIMM	699	2097	
108	108	1-9	9	HFRS	BLK	422	3800	
109	109	EFP4	22	HFRS	BLK	485	10663	
110	110	EFP5	15	HFRS	BLK	550	8254	
111	111	EFP6	15	HFRS	BLK	637	9549	
112	112	EFP7	21	HFRS	BLK	709	14880	
113	113	EFP8	12	HFRS	BLK	791	9494	
114	114	1-14	1	HFRS	BLK	803	803	REPLACEMENT
115	115	2-13	2	HFRS	REDX	764	1529	REPLACEMENT
116	116	1-16	1	HFRS	RED	711	711	REPLACEMENT
117	117	2-15	2	HFRS	RED	826	1653	REPLACEMENT
118	118	1-18	4	HFRS	RWF	848	3393	REPLACEMENT
119	119	2-17	2	HFRS	BRIT	504	1007	
120	120	1-20	6	HFRS	BRIT	611	3667	
121	121	1-9A	9	HFRS	BRIT	701	6307	

122	122	2-19		3	HFRS	BRIT	770	2309	
123	123	1-22		2	HFRS	RWF	641	1282	
124	124	2-21		3	HFRS	RWF	778	2334	
125	125	1-24		2	HFRS	EXOT	416	832	
126	126	2-23		3	HFRS	EXOT	469	1406	
127	127	1-26		2	HFRS	EXOT	575	1150	
128	128	2-25		1	HFRS	EXOT	654	654	
129	129	1-28		5	HFRS	SPEC	450	2248	
130	130	1-9B		8	HFRS	SPEC	561	4488	
131	131	2-27		1	HFRS	SPEC	653	653	
132	132	1-30		1	HFRS	NORT	518	518	
133	133	2-29		2	HFRS	NORT	571	1142	
134	134	1-32		1	HFRS	NORT	663	663	
135	135	2-31		2	HFRS	NORT	732	1465	
136	136	1-34		1	HFRS	SHOR	420	420	
137	137	2-33		1	HFRS	SHOR	588	588	
138	138	1-36		3	HFRS	SHOR	663	1988	
139	139	2-4		6	HFRS	TINY	319	1914	
140	140	2-6		1	HFRS	BABY	203	203	
141	141	RING		1	BULL	ODD	729	729	
142	142	T889		1	STRS	ODD	683	683	
143	143	T900		1	HFRS	ODD	507	507	
144	144	T906		1	HFRS	ODD	392	392	
145	145	T908		1	HFRS	ODD	517	517	

Total Head: 712

Lot Detail Information

Sequence #:	1	Lot #:	1
Pen #:	A-18	Consignor:	
Head:	3	Average Weight:	471
Color:		Total Weight:	1414
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	2	Lot #:	2
Pen #:	9-1	Consignor:	
Head:	2	Average Weight:	538
Color:		Total Weight:	1075
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	3	Lot #:	3
Pen #:	4-4	Consignor:	
Head:	5	Average Weight:	610
Color:		Total Weight:	3052
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	4	Lot #:	4
Pen #:	4-6	Consignor:	
Head:	5	Average Weight:	679
Color:		Total Weight:	3394
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	5	Lot #:	5
Pen #:	4-8	Consignor:	
Head:	16	Average Weight:	726
Color:		Total Weight:	11608
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	6	Lot #:	6
Pen #:	4-10	Consignor:	
Head:	10	Average Weight:	785
Color:		Total Weight:	7854
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	7	Lot #:	7
Pen #:	4-12	Consignor:	
Head:	7	Average Weight:	842
Color:		Total Weight:	5896
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	8	Lot #:	8
-------------	----------	--------	----------

Pen #:	4-14	Consignor:	
Head:	3	Average Weight:	900
Color:		Total Weight:	2699
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	9	Lot #:	9
Pen #:	4-16	Consignor:	
Head:	2	Average Weight:	980
Color:		Total Weight:	1960
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	10	Lot #:	10
Pen #:	D28A	Consignor:	
Head:	1	Average Weight:	449
Color:		Total Weight:	449
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	11	Lot #:	11
Pen #:	D-5	Consignor:	
Head:	2	Average Weight:	606
Color:		Total Weight:	1213
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	12	Lot #:	12
Pen #:	D-5A	Consignor:	
Head:	1	Average Weight:	715
Color:		Total Weight:	715
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	13	Lot #:	13
Pen #:	D-5B	Consignor:	
Head:	2	Average Weight:	856
Color:		Total Weight:	1713
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	14	Lot #:	14
Pen #:	D-4	Consignor:	
Head:	2	Average Weight:	446
Color:		Total Weight:	893
Sex:	STRS	Breed:	CHAR

Lot Detail Information

Sequence #:	15	Lot #:	15
Pen #:	D-4A	Consignor:	
Head:	4	Average Weight:	532
Color:		Total Weight:	2126

Sex:	STRS	Breed:	CHAR
------	-------------	--------	-------------

Lot Detail Information

Sequence #:	16	Lot #:	16
Pen #:	D-4B	Consignor:	
Head:	3	Average Weight:	655
Color:		Total Weight:	1965
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	17	Lot #:	17
Pen #:	D-3	Consignor:	
Head:	3	Average Weight:	721
Color:		Total Weight:	2162
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	18	Lot #:	18
Pen #:	D-3A	Consignor:	
Head:	2	Average Weight:	893
Color:		Total Weight:	1786
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	19	Lot #:	19
Pen #:	A-20	Consignor:	
Head:	7	Average Weight:	429
Color:		Total Weight:	3000
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	20	Lot #:	20
Pen #:	9-2	Consignor:	
Head:	10	Average Weight:	486
Color:		Total Weight:	4862
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	21	Lot #:	21
Pen #:	9-3	Consignor:	
Head:	4	Average Weight:	554
Color:		Total Weight:	2215
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	22	Lot #:	22
Pen #:	5-3	Consignor:	
Head:	9	Average Weight:	609
Color:		Total Weight:	5481
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	23	Lot #:	23
Pen #:	5-5	Consignor:	
Head:	9	Average Weight:	660
Color:		Total Weight:	5941
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	24	Lot #:	24
Pen #:	5-7	Consignor:	
Head:	6	Average Weight:	718
Color:		Total Weight:	4309
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	25	Lot #:	25
Pen #:	5-9	Consignor:	
Head:	4	Average Weight:	796
Color:		Total Weight:	3184
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	26	Lot #:	26
Pen #:	5-11	Consignor:	
Head:	7	Average Weight:	851
Color:		Total Weight:	5956
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	27	Lot #:	27
Pen #:	5-13	Consignor:	
Head:	4	Average Weight:	926
Color:		Total Weight:	3702
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	28	Lot #:	28
Pen #:	D-3B	Consignor:	
Head:	1	Average Weight:	1090
Color:		Total Weight:	1090
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	29	Lot #:	29
Pen #:	D-2	Consignor:	
Head:	3	Average Weight:	972
Color:		Total Weight:	2917
Sex:	STRS	Breed:	BIG

Lot Detail Information

Sequence #:	30	Lot #:	30
Pen #:	D-2A	Consignor:	
Head:	2	Average Weight:	1106

Color: Total Weight: **2212**

Sex: **STRS** Breed: **BIG**

Lot Detail Information

Sequence #: **31** Lot #: **31**

Pen #: **D-2B** Consignor:

Head: **2** Average Weight: **552**

Color: Total Weight: **1104**

Sex: **STRS** Breed: **EXTX**

Lot Detail Information

Sequence #: **32** Lot #: **32**

Pen #: **D-1** Consignor:

Head: **7** Average Weight: **606**

Color: Total Weight: **4245**

Sex: **STRS** Breed: **EXTX**

Lot Detail Information

Sequence #: **33** Lot #: **33**

Pen #: **D-1A** Consignor:

Head: **6** Average Weight: **662**

Color: Total Weight: **3971**

Sex: **STRS** Breed: **EXTX**

Lot Detail Information

Sequence #: **34** Lot #: **34**

Pen #: **D-1D** Consignor:

Head: **6** Average Weight: **734**

Color: Total Weight: **4402**

Sex: **STRS** Breed: **EXTX**

Lot Detail Information

Sequence #: **35** Lot #: **35**

Pen #: **D-1C** Consignor:

Head: **5** Average Weight: **785**

Color: Total Weight: **3926**

Sex: **STRS** Breed: **EXTX**

Lot Detail Information

Sequence #: **36** Lot #: **36**

Pen #: **D-44** Consignor:

Head: **3** Average Weight: **564**

Color: Total Weight: **1692**

Sex: **STRS** Breed: **SIMM**

Lot Detail Information

Sequence #: **37** Lot #: **37**

Pen #: **D-45** Consignor:

Head: **4** Average Weight: **600**

Color: Total Weight: **2398**

Sex: **STRS** Breed: **SIMM**

Lot Detail Information

Sequence #:	38	Lot #:	38
Pen #:	D-46	Consignor:	
Head:	2	Average Weight:	785
Color:		Total Weight:	1570
Sex:	STRS	Breed:	SIMM

Lot Detail Information

Sequence #:	39	Lot #:	39
Pen #:	A-23	Consignor:	
Head:	2	Average Weight:	552
Color:		Total Weight:	1104
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	40	Lot #:	40
Pen #:	9-4	Consignor:	
Head:	11	Average Weight:	612
Color:		Total Weight:	6733
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	41	Lot #:	41
Pen #:	5-8	Consignor:	
Head:	12	Average Weight:	668
Color:		Total Weight:	8016
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	42	Lot #:	42
Pen #:	5-10	Consignor:	
Head:	12	Average Weight:	725
Color:		Total Weight:	8701
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	43	Lot #:	43
Pen #:	5-12	Consignor:	
Head:	12	Average Weight:	791
Color:		Total Weight:	9490
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	44	Lot #:	44
Pen #:	5-14	Consignor:	
Head:	3	Average Weight:	854
Color:		Total Weight:	2563
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	45	Lot #:	45
-------------	-----------	--------	-----------

Pen #:	D-47	Consignor:	
Head:	2	Average Weight:	418
Color:		Total Weight:	836
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	46	Lot #:	46
Pen #:	D-48	Consignor:	
Head:	11	Average Weight:	568
Color:		Total Weight:	6243
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	47	Lot #:	47
Pen #:	D-7	Consignor:	
Head:	23	Average Weight:	645
Color:		Total Weight:	14846
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	48	Lot #:	48
Pen #:	D-49	Consignor:	
Head:	17	Average Weight:	706
Color:		Total Weight:	12001
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	49	Lot #:	49
Pen #:	D-36	Consignor:	
Head:	9	Average Weight:	789
Color:		Total Weight:	7102
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	50	Lot #:	50
Pen #:	D-37	Consignor:	
Head:	7	Average Weight:	849
Color:		Total Weight:	5943
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	51	Lot #:	51
Pen #:	D-38	Consignor:	
Head:	3	Average Weight:	494
Color:		Total Weight:	1482
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	52	Lot #:	52
Pen #:	D-39	Consignor:	
Head:	1	Average Weight:	588
Color:		Total Weight:	588

Sex:	STRS	Breed:	BRIT
------	-------------	--------	-------------

Lot Detail Information

Sequence #:	53	Lot #:	53
Pen #:	B-17	Consignor:	
Head:	4	Average Weight:	634
Color:		Total Weight:	2536
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	54	Lot #:	54
Pen #:	B-18	Consignor:	
Head:	4	Average Weight:	718
Color:		Total Weight:	2871
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	55	Lot #:	55
Pen #:	B-19	Consignor:	
Head:	4	Average Weight:	406
Color:		Total Weight:	1622
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	56	Lot #:	56
Pen #:	D-32	Consignor:	
Head:	3	Average Weight:	500
Color:		Total Weight:	1500
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	57	Lot #:	57
Pen #:	D-33	Consignor:	
Head:	3	Average Weight:	576
Color:		Total Weight:	1728
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	58	Lot #:	58
Pen #:	D-34	Consignor:	
Head:	1	Average Weight:	621
Color:		Total Weight:	621
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	59	Lot #:	59
Pen #:	D-35	Consignor:	
Head:	3	Average Weight:	712
Color:		Total Weight:	2137
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	60	Lot #:	60
Pen #:	B-14	Consignor:	
Head:	2	Average Weight:	780
Color:		Total Weight:	1560
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	61	Lot #:	61
Pen #:	B-15	Consignor:	
Head:	6	Average Weight:	911
Color:		Total Weight:	5465
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	62	Lot #:	62
Pen #:	B-16	Consignor:	
Head:	2	Average Weight:	469
Color:		Total Weight:	938
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	63	Lot #:	63
Pen #:	D-28	Consignor:	
Head:	1	Average Weight:	558
Color:		Total Weight:	558
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	64	Lot #:	64
Pen #:	D-29	Consignor:	
Head:	3	Average Weight:	485
Color:		Total Weight:	1454
Sex:	STRS	Breed:	NORT

Lot Detail Information

Sequence #:	65	Lot #:	65
Pen #:	D-30	Consignor:	
Head:	6	Average Weight:	591
Color:		Total Weight:	3544
Sex:	STRS	Breed:	NORT

Lot Detail Information

Sequence #:	66	Lot #:	66
Pen #:	D-31	Consignor:	
Head:	7	Average Weight:	716
Color:		Total Weight:	5010
Sex:	STRS	Breed:	NORT

Lot Detail Information

Sequence #:	67	Lot #:	67
Pen #:	B-11	Consignor:	
Head:	1	Average Weight:	840

Color:		Total Weight:	840
Sex:	STRS	Breed:	NORT

Lot Detail Information

Sequence #:	68	Lot #:	68
Pen #:	B-12	Consignor:	
Head:	1	Average Weight:	407
Color:		Total Weight:	407
Sex:	STRS	Breed:	LATE

Lot Detail Information

Sequence #:	69	Lot #:	69
Pen #:	B-13	Consignor:	
Head:	1	Average Weight:	627
Color:		Total Weight:	627
Sex:	STRS	Breed:	LATE

Lot Detail Information

Sequence #:	70	Lot #:	70
Pen #:	D-24	Consignor:	
Head:	1	Average Weight:	514
Color:		Total Weight:	514
Sex:	STRS	Breed:	SPEC

Lot Detail Information

Sequence #:	71	Lot #:	71
Pen #:	D-25	Consignor:	
Head:	3	Average Weight:	611
Color:		Total Weight:	1833
Sex:	STRS	Breed:	SPEC

Lot Detail Information

Sequence #:	72	Lot #:	72
Pen #:	D-26	Consignor:	
Head:	2	Average Weight:	692
Color:		Total Weight:	1385
Sex:	STRS	Breed:	SPEC

Lot Detail Information

Sequence #:	73	Lot #:	73
Pen #:	D-27	Consignor:	
Head:	1	Average Weight:	370
Color:		Total Weight:	370
Sex:	STRS	Breed:	SHOR

Lot Detail Information

Sequence #:	74	Lot #:	74
Pen #:	B-8	Consignor:	
Head:	3	Average Weight:	721
Color:		Total Weight:	2163
Sex:	STRS	Breed:	SHOR

Lot Detail Information

Sequence #:	75	Lot #:	75
Pen #:	B-9	Consignor:	
Head:	1	Average Weight:	821
Color:		Total Weight:	821
Sex:	STRS	Breed:	SHOR

Lot Detail Information

Sequence #:	76	Lot #:	76
Pen #:	B-10	Consignor:	
Head:	7	Average Weight:	471
Color:		Total Weight:	3294
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	77	Lot #:	77
Pen #:	D-20	Consignor:	
Head:	10	Average Weight:	587
Color:		Total Weight:	5869
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	78	Lot #:	78
Pen #:	D-21	Consignor:	
Head:	7	Average Weight:	701
Color:		Total Weight:	4905
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	79	Lot #:	79
Pen #:	D-22	Consignor:	
Head:	8	Average Weight:	823
Color:		Total Weight:	6584
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	80	Lot #:	80
Pen #:	D-23	Consignor:	
Head:	4	Average Weight:	885
Color:		Total Weight:	3541
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	81	Lot #:	81
Pen #:	B-7	Consignor:	
Head:	2	Average Weight:	616
Color:		Total Weight:	1232
Sex:	BULL	Breed:	BRIT

Lot Detail Information

Sequence #:	82	Lot #:	82
-------------	-----------	--------	-----------

Pen #:	B-6	Consignor:	
Head:	3	Average Weight:	681
Color:		Total Weight:	2044
Sex:	BULL	Breed:	BRIT

Lot Detail Information

Sequence #:	83	Lot #:	83
Pen #:	B-5	Consignor:	
Head:	3	Average Weight:	782
Color:		Total Weight:	2346
Sex:	BULL	Breed:	BRIT

Lot Detail Information

Sequence #:	84	Lot #:	84
Pen #:	B-4	Consignor:	
Head:	8	Average Weight:	338
Color:		Total Weight:	2700
Sex:	STRS	Breed:	TINY

Lot Detail Information

Sequence #:	85	Lot #:	85
Pen #:	A-5	Consignor:	
Head:	1	Average Weight:	604
Color:		Total Weight:	604
Sex:	STRS	Breed:	STAG

Lot Detail Information

Sequence #:	86	Lot #:	86
Pen #:	A-7	Consignor:	
Head:	1	Average Weight:	660
Color:		Total Weight:	660
Sex:	STRS	Breed:	STAG

Lot Detail Information

Sequence #:	87	Lot #:	87
Pen #:	A-9	Consignor:	
Head:	3	Average Weight:	807
Color:		Total Weight:	2422
Sex:	STRS	Breed:	STAG

Lot Detail Information

Sequence #:	88	Lot #:	88
Pen #:	B-3	Consignor:	
Head:	2	Average Weight:	214
Color:		Total Weight:	429
Sex:	STRS	Breed:	BABY

Lot Detail Information

Sequence #:	89	Lot #:	89
Pen #:	1-4	Consignor:	
Head:	3	Average Weight:	546
Color:		Total Weight:	1639

Sex:	HFRS	Breed:	TAN
------	-------------	--------	------------

Lot Detail Information

Sequence #:	90	Lot #:	90
Pen #:	1-5	Consignor:	
Head:	7	Average Weight:	650
Color:		Total Weight:	4548
Sex:	HFRS	Breed:	TAN

Lot Detail Information

Sequence #:	91	Lot #:	91
Pen #:	1-5A	Consignor:	
Head:	6	Average Weight:	704
Color:		Total Weight:	4227
Sex:	HFRS	Breed:	TAN

Lot Detail Information

Sequence #:	92	Lot #:	92
Pen #:	2-3	Consignor:	
Head:	1	Average Weight:	647
Color:		Total Weight:	647
Sex:	HFRS	Breed:	WHT

Lot Detail Information

Sequence #:	93	Lot #:	93
Pen #:	1-6	Consignor:	
Head:	1	Average Weight:	790
Color:		Total Weight:	790
Sex:	HFRS	Breed:	WHT

Lot Detail Information

Sequence #:	94	Lot #:	94
Pen #:	1-5B	Consignor:	
Head:	9	Average Weight:	491
Color:		Total Weight:	4418
Sex:	HFRS	Breed:	CHAR

Lot Detail Information

Sequence #:	95	Lot #:	95
Pen #:	2-5	Consignor:	
Head:	5	Average Weight:	644
Color:		Total Weight:	3218
Sex:	HFRS	Breed:	CHAR

Lot Detail Information

Sequence #:	96	Lot #:	96
Pen #:	1-8	Consignor:	
Head:	3	Average Weight:	396
Color:		Total Weight:	1188
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	97	Lot #:	97
Pen #:	2-7	Consignor:	
Head:	5	Average Weight:	494
Color:		Total Weight:	2472
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	98	Lot #:	98
Pen #:	1-7	Consignor:	
Head:	9	Average Weight:	588
Color:		Total Weight:	5294
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	99	Lot #:	99
Pen #:	EP2F	Consignor:	
Head:	15	Average Weight:	647
Color:		Total Weight:	9711
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	100	Lot #:	100
Pen #:	EP2B	Consignor:	
Head:	12	Average Weight:	719
Color:		Total Weight:	8630
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	101	Lot #:	101
Pen #:	1-7A	Consignor:	
Head:	5	Average Weight:	808
Color:		Total Weight:	4040
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	102	Lot #:	102
Pen #:	1-7B	Consignor:	
Head:	6	Average Weight:	946
Color:		Total Weight:	5674
Sex:	HFRS	Breed:	BIG

Lot Detail Information

Sequence #:	103	Lot #:	103
Pen #:	1-10	Consignor:	
Head:	5	Average Weight:	548
Color:		Total Weight:	2740
Sex:	HFRS	Breed:	EXOX

Lot Detail Information

Sequence #:	104	Lot #:	104
Pen #:	EFP3	Consignor:	
Head:	18	Average Weight:	634

Color:		Total Weight:	11408
Sex:	HFRS	Breed:	EXOX

Lot Detail Information

Sequence #:	105	Lot #:	105
Pen #:	2-9	Consignor:	
Head:	2	Average Weight:	408
Color:		Total Weight:	816
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	106	Lot #:	106
Pen #:	1-12	Consignor:	
Head:	2	Average Weight:	482
Color:		Total Weight:	964
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	107	Lot #:	107
Pen #:	2-11	Consignor:	
Head:	3	Average Weight:	699
Color:		Total Weight:	2097
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	108	Lot #:	108
Pen #:	1-9	Consignor:	
Head:	9	Average Weight:	422
Color:		Total Weight:	3800
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	109	Lot #:	109
Pen #:	EFP4	Consignor:	
Head:	22	Average Weight:	485
Color:		Total Weight:	10663
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	110	Lot #:	110
Pen #:	EFP5	Consignor:	
Head:	15	Average Weight:	550
Color:		Total Weight:	8254
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	111	Lot #:	111
Pen #:	EFP6	Consignor:	
Head:	15	Average Weight:	637
Color:		Total Weight:	9549
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	112	Lot #:	112
Pen #:	EFP7	Consignor:	
Head:	21	Average Weight:	709
Color:		Total Weight:	14880
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	113	Lot #:	113
Pen #:	EFP8	Consignor:	
Head:	12	Average Weight:	791
Color:		Total Weight:	9494
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	114	Lot #:	114
Pen #:	1-14	Consignor:	REPLACEMENT
Head:	1	Average Weight:	803
Color:		Total Weight:	803
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	115	Lot #:	115
Pen #:	2-13	Consignor:	REPLACEMENT
Head:	2	Average Weight:	764
Color:		Total Weight:	1529
Sex:	HFRS	Breed:	REDX

Lot Detail Information

Sequence #:	116	Lot #:	116
Pen #:	1-16	Consignor:	REPLACEMENT
Head:	1	Average Weight:	711
Color:		Total Weight:	711
Sex:	HFRS	Breed:	RED

Lot Detail Information

Sequence #:	117	Lot #:	117
Pen #:	2-15	Consignor:	REPLACEMENT
Head:	2	Average Weight:	826
Color:		Total Weight:	1653
Sex:	HFRS	Breed:	RED

Lot Detail Information

Sequence #:	118	Lot #:	118
Pen #:	1-18	Consignor:	REPLACEMENT
Head:	4	Average Weight:	848
Color:		Total Weight:	3393
Sex:	HFRS	Breed:	RWF

Lot Detail Information

Sequence #:	119	Lot #:	119
-------------	------------	--------	------------

Pen #:	2-17	Consignor:	
Head:	2	Average Weight:	504
Color:		Total Weight:	1007
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	120	Lot #:	120
Pen #:	1-20	Consignor:	
Head:	6	Average Weight:	611
Color:		Total Weight:	3667
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	121	Lot #:	121
Pen #:	1-9A	Consignor:	
Head:	9	Average Weight:	701
Color:		Total Weight:	6307
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	122	Lot #:	122
Pen #:	2-19	Consignor:	
Head:	3	Average Weight:	770
Color:		Total Weight:	2309
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	123	Lot #:	123
Pen #:	1-22	Consignor:	
Head:	2	Average Weight:	641
Color:		Total Weight:	1282
Sex:	HFRS	Breed:	RWF

Lot Detail Information

Sequence #:	124	Lot #:	124
Pen #:	2-21	Consignor:	
Head:	3	Average Weight:	778
Color:		Total Weight:	2334
Sex:	HFRS	Breed:	RWF

Lot Detail Information

Sequence #:	125	Lot #:	125
Pen #:	1-24	Consignor:	
Head:	2	Average Weight:	416
Color:		Total Weight:	832
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	126	Lot #:	126
Pen #:	2-23	Consignor:	
Head:	3	Average Weight:	469
Color:		Total Weight:	1406

Sex:	HFRS	Breed:	EXOT
------	-------------	--------	-------------

Lot Detail Information

Sequence #:	127	Lot #:	127
Pen #:	1-26	Consignor:	
Head:	2	Average Weight:	575
Color:		Total Weight:	1150
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	128	Lot #:	128
Pen #:	2-25	Consignor:	
Head:	1	Average Weight:	654
Color:		Total Weight:	654
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	129	Lot #:	129
Pen #:	1-28	Consignor:	
Head:	5	Average Weight:	450
Color:		Total Weight:	2248
Sex:	HFRS	Breed:	SPEC

Lot Detail Information

Sequence #:	130	Lot #:	130
Pen #:	1-9B	Consignor:	
Head:	8	Average Weight:	561
Color:		Total Weight:	4488
Sex:	HFRS	Breed:	SPEC

Lot Detail Information

Sequence #:	131	Lot #:	131
Pen #:	2-27	Consignor:	
Head:	1	Average Weight:	653
Color:		Total Weight:	653
Sex:	HFRS	Breed:	SPEC

Lot Detail Information

Sequence #:	132	Lot #:	132
Pen #:	1-30	Consignor:	
Head:	1	Average Weight:	518
Color:		Total Weight:	518
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	133	Lot #:	133
Pen #:	2-29	Consignor:	
Head:	2	Average Weight:	571
Color:		Total Weight:	1142
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	134	Lot #:	134
Pen #:	1-32	Consignor:	
Head:	1	Average Weight:	663
Color:		Total Weight:	663
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	135	Lot #:	135
Pen #:	2-31	Consignor:	
Head:	2	Average Weight:	732
Color:		Total Weight:	1465
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	136	Lot #:	136
Pen #:	1-34	Consignor:	
Head:	1	Average Weight:	420
Color:		Total Weight:	420
Sex:	HFRS	Breed:	SHOR

Lot Detail Information

Sequence #:	137	Lot #:	137
Pen #:	2-33	Consignor:	
Head:	1	Average Weight:	588
Color:		Total Weight:	588
Sex:	HFRS	Breed:	SHOR

Lot Detail Information

Sequence #:	138	Lot #:	138
Pen #:	1-36	Consignor:	
Head:	3	Average Weight:	663
Color:		Total Weight:	1988
Sex:	HFRS	Breed:	SHOR

Lot Detail Information

Sequence #:	139	Lot #:	139
Pen #:	2-4	Consignor:	
Head:	6	Average Weight:	319
Color:		Total Weight:	1914
Sex:	HFRS	Breed:	TINY

Lot Detail Information

Sequence #:	140	Lot #:	140
Pen #:	2-6	Consignor:	
Head:	1	Average Weight:	203
Color:		Total Weight:	203
Sex:	HFRS	Breed:	BABY

Lot Detail Information

Sequence #:	141	Lot #:	141
Pen #:	RING	Consignor:	
Head:	1	Average Weight:	729

Color:		Total Weight:	729
Sex:	BULL	Breed:	ODD

Lot Detail Information

Sequence #:	142	Lot #:	142
Pen #:	T889	Consignor:	
Head:	1	Average Weight:	683
Color:		Total Weight:	683
Sex:	STRS	Breed:	ODD

Lot Detail Information

Sequence #:	143	Lot #:	143
Pen #:	T900	Consignor:	
Head:	1	Average Weight:	507
Color:		Total Weight:	507
Sex:	HFRS	Breed:	ODD

Lot Detail Information

Sequence #:	144	Lot #:	144
Pen #:	T906	Consignor:	
Head:	1	Average Weight:	392
Color:		Total Weight:	392
Sex:	HFRS	Breed:	ODD

Lot Detail Information

Sequence #:	145	Lot #:	145
Pen #:	T908	Consignor:	
Head:	1	Average Weight:	517
Color:		Total Weight:	517
Sex:	HFRS	Breed:	ODD